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%1 Th % p2£105£ 100 HPSIk ;%

- 2 VR ] £ &
PSI | 5%+ | PSI ik X PSI | A%+ | PSI | 5%+ |PSI|i7%+
105#10*% 01p | 61 03 44 PM10 53 03 40 03 72 03
105#10% 02p | 44 03 46 03 46 03 39 03 68 03
105#10% 03p | 70 03 65 03 81 03 74 03 83 03
105#10" 04p | 66 03 65 03 74 03 71 03 80 03
105#10% 05p | 77 03 68 03 102 03 20 03 55 | PM10
105#10" 06p | 68 03 86 03 74 03 78 03 23 | PM10
105#10% 07p | 41 | PM10 | 60 PM10 56 | PM10 | 52 PM10 40 03
105#10% 08p | 24 03 28 PM10 24 03 19 03 38 03
105#107 09p | 35 03 42 03 37 03 36 03 45 03
105#10*% 10p | 34 03 37 03 36 03 35 03 35 03
105#10% 11p | 37 03 39 03 51 03 44 03 52 03
105#10% 12p | 34 03 33 03 39 03 35 03 54 03
105#10% 13p | 43 03 46 03 69 03 54 03 83 03
105#10* 14p | 51 03 54 PM10 60 03 54 03 88 03
105#10% 15p | 86 03 75 03 82 03 82 03 102 | 03
105#10" 16p | 102 03 75 03 80 03 20 03 70 03
105#10% 17p | 113 03 72 PM10 103 03 118 03 70 | PM10
105#10% 18p | 80 03 72 PM10 70 | PM10 | 82 03 110 | 03
105#10% 19p | 84 03 74 PM10 84 03 77 PM10 56 03
105#10% 20p | 116 03 114 03 91 03 110 03 41 | PM10
105#10% 21p | 69 03 58 03 54 | PM10 | 52 03 42 03
105#10% 22p | 41 03 38 PM10 39 | PM10 | 33 03 58 03
105#10% 23p | 44 03 37 03 40 03 42 03 58 03
105#10% 24p | 61 03 51 PM10 68 03 60 03 58 | PM10
105#10% 25p | 67 03 58 PM10 69 03 60 03 79 03
105#10% 26p | 59 03 58 PM10 69 03 56 PM10 68 03
105#10% 27p | 89 03 74 03 83 03 75 03 52 | PM10
105#10% 28p | 73 03 72 PM10 94 03 74 03 45 03
105#10% 29p | 43 03 53 PM10 57 | PM10 | 47 PM10 58 03
105#10% 30p | 41 03 45 03 49 03 44 03 44 03
105#10% 31p | 57 03 48 03 62 03 59 03 59 03
4t 21

FA KR RRFZF RTERTAEEGS.

25
YU g

KGR R




%2 TRk A PIxE1052 102 (»PSI]K
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" PSI [ 5 %4 | PSI | nd# | PSI |5 a# | PSI | dd | PSI | a4 | PSI |5+
105#10* 01p 32 PM10 | 61 03 44 03 42 PM10 | 52 03 41 PM10
105+#10* 02p 42 03 o1 | PM10 44 PM10 | 41 | pM10 | 45 | PM10 | 45 | PMI10
105# 10" 03P 56 03 84 03 74 03 68 03 57 03 54 PM10
105# 107 04 p 58 03 95 03 72 03 64 03 60 03 47 PM10
105#10" 05p 53 03 104 03 90 03 88 03 65 03 59 PM10
105#%10" 06 P 86 03 74 03 59 PM10 63 03 73 03 57 PM10
105+ 10 07 p 59 | pM10 | 53 | PMI10 47 PM10 | 51 | pM10 | 53 | PM10 | 51 | PM10
105#10* 08P 21 03 37 | PM10 26 PM10 | 31 | pm10 | 26 | pPM10 | 20 | PM10
105# 107 09 p 42 03 36 03 36 03 32 03 38 03 29 03
105# 107 10p 36 03 39 03 34 03 32 03 35 03 28 03
105#10% 11p 30 03 47 03 50 03 43 03 35 03 32 03
105#10% 12p 31 03 40 03 39 03 32 PM10 | 31 03 25 03
105# 10" 13p 44 03 74 03 66 03 61 03 42 03 41 03
105# 10" 14p 49 | pm1o | 61 03 61 03 53 03 48 03 44 PM10
105# 10" 15p 57 03 92 03 70 03 73 03 89 03 59 03
105#10% 16 P 58 03 89 03 70 03 73 03 86 03 67 03
105#10% 17p 70 03 138 03 78 03 97 03 95 03 74 03
105# 107 18p 63 PM10 | 80 03 62 PM10 64 PM10 | 71 03 63 PM10
105#107 19p 60 PM10 | 99 03 76 PM10 69 PM10 | 78 03 70 PM10
105#107 20p 101 03 114 03 75 PM10 89 03 131 03 74 PM10
105#10* 21p 53 | PM10 | 92 03 51 PM10 | 53 | PM10 | 52 | PM10 | 53 | PM10
105#107 227 29 | pM10 | 48 | PMI0 41 PM10 | 44 | pm10 | 38 03 38 | PM10
105#10%* 23p 33 03 46 03 32 PM10 35 03 41 03 33 PM10
105#10% 24p 54 03 73 03 49 PM10 56 PM10 | 56 03 51 PM10
105#10% 25p 48 03 76 03 55 PM10 56 PM10 | 63 03 56 PM10
105#10* 26 p 48 | pm10 | 81 03 61 PM10 | 57 | PM10 | 58 | PM10 | 57 | PM10
105# 107 27p 80 03 83 03 68 03 67 03 77 03 65 PM10
105#10% 28p 60 PM10 | 98 03 89 03 74 03 65 03 63 PM10
105#10" 297 | 45 | pMm1o | 55 03 53 03 55 | PM10 | 50 | pm10 | 51 | PM10
105#10" 307 | 46 | 03 | 50 | 03 52 | 03 | 43 | 03 |4 | o3 | 37 | 03
105#10" 310 | 45 | o3 | 66 03 64 03 55 03 | %9 ] o3 42 03
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PSI | 5%4 | PSI |5%4% | PSI |i5%4 | PSI | 5%% | PSI | 5%+
105#10% 01p 37 PM10 50 PM10 | 53 PM10 48 | 03 34 PM10
105#10 % 02p 45 03 57 PM10 51 | PM10 62 03
105#10% 03 p 57 03 57 PM10 | 63 PM10 77 | 03 82 03
105# 10 04p 53 03 52 03 52 PM10 70 |03 76 03
105#10% 05p 59 PM10 62 PM10 | 64 | PM10 83 |03 79 03
105# 10 06 p 69 03 74 03 71 PM10 88 |03 98 03
105# 107 07 p 55 PM10 77 PM10 | 67 PM10 68 | PM10 61 PM10
105#10* 08 p 23 03 28 PM10 | 51 PM10 30 | pPM10 29 03
105#10% 09 p 39 03 37 03 34 | PM10 42 |03 52 03
105#10* 10p 35 03 31 03 44 | PM10 40 |03 54 03
105#10% 11p 32 03 33 PM10 | 40 | PM10 50 |03 48 03
105£10* 12p 28 03 34 PM10 | 39 PM10 36 |03 47 03
105#10% 13p 40 PM10 51 PM10 | 46 PM10 52 | 03 60 03
105# 10" 14p 53 PM10 63 PM10 | 55 | PM10 56 | 03 59 03
105#10* 15p 51 03 57 PM10 | 57 PM10 87 |03 70 03
105# 10" 16 p 61 PM10 79 PM10 | 72 PM10 91 |03 67 03
105£10* 17p 66 PM10 81 PM10 | 81 PM10 89 | PM10 79 03
105# 10" 18p 61 PM10 78 PM10 | 67 PM10 85 | PM10 59 PM10
105£10* 19p 62 PM10 83 PM10 | 75 PM10 87 | PM10 71 03
105#10% 20p 74 PM10 97 PM10 | 89 PM10 | 130 |03 98 03
105#10% 21p 52 PM10 62 PM10 | 62 PM10 87 |03 50 PM10
105#10% 22p 35 PM10 42 PM10 | 52 PM10 65 |03 39 03
105#10 % 23p 27 PM10 37 PM10 | 51 PM10 80 |03 38 03
105# 107" 24p 41 PM10 53 PM10 | 55 | PM10 74 | 03 60 03
105#10% 25p 49 PM10 60 PM10 | 59 PM10 65 |03 50 PM10
105#10 % 26 p 47 PM10 61 PM10 | 65 PM10 65 | PM10 53 03
105#10% 27p 61 PM10 79 PM10 | 81 PM10 86 |03 72 03
105#10* 28 p 65 PM10 89 PM10 | 48 03 79 | PM10 75 03
105107 29 p 34 03 59 PM10 | 60 | PM10 58 | PM10 57 PM10
105+# 107 307 35 03 38 03 39 PM10 47 | 03 52 03
105#10* 31p 37 03 45 PM10 | 45 | PMI10 5 |03 58 03

(B ezt > Aok WiE4d)




+4 BixE - 4

/Pvtt'% \Bﬁ’t

_L,\J_:I-

YL AR
BRI U s R 7 %
ok | RF 0 B3 kB LF 0 & FAX
2R 0 3 3 0 4 4 1.31%
ViR 0 1 1 0 2 2 0.66%
~ 2 0 2 2 0 2 2 0.66%
B 0 2 2 0 2 2 0.66%
g 0 2 2 0 3 3 0.98%
&3t 0 10 10 0 13 13 0.85%
MAAFAF=3F &F2 LR+ p /1052 p % %3t p ¥k
%5 TRiE B - P L p Bosiit 4
o s 107 7 2 xkhp #k Bohrbp i 3%
U ke L5 | g3 [RR# ] L5 | &3 |FAF
~ ¥ 0 1 1 0 1 1 0.33%
x 0 3 3 1 4 5 1.65%
75 % 0 0 0 0 0 0 0%
5 P 0 0 0 0 0 0 0%
22 0 1 1 0 1 1 0.33%
~ b 0 0 0 0 0 0 0%
£t 0 5 5 1 6 7 0.38%
MARFAF=55&F2 2R p#c/105&p % %3 p ¥
2\6 % /E "\.L"’f \Bﬁif’p“l‘%}\
10% # 2:0p #k 9l g #ic 2 %
Bl | RS | L3 g3 | kky | L3 g | FAEF
ik 0 0 0 0 0 0 0%
Fk 0 0 0 0 0 0 0%
~ R 0 0 0 0 1 1 0.33%
i< 0 1 1 0 1 1 0.33%
iy 0 0 0 0 3 3 0.99%
&3t 0 1 1 0 5 5 0.41%
2 AFAF =345 FF3 LR Pk /1058 p 5 A3t p dk




PSIi& I% f_\:"_%
% R

120

90

60

30

\_A/\J%

2R R <2 L Fh mm=—in

= S

123456 7 8 91011121314151617 1819202122 2324252627 28 29 30 31
p g

Bl k%% p|xL107 PSIiE & i 454 B

PSlig % %A

150

120

90

60

30

150

120

90

60

30

EN] FAN: ] X T %Jé ,?;B e ] Y e— ],

123 456 7 8 91011121314151617 18 1920 21 22 23 24 25 26 27 28 29 30 31
p 3y

B2 ik 5 ipl=b10 7 PSIE % it A& % F]

PSIiE £ TRl

B Ak L+ L

123456 7 8 910111213 14151617 18 19 20 21 22 23 24 25 26 27 28 29 30 31
p iy

B3 & 7 Rlx£10% PSIiE 2 1 A4 @]




PSI>100% 3+ =L p

= p

21

®

PSI>100 %

16
—B—954  —A—96%
14
——074F —A&—984F
12 —K—00fE  —e—]004E
—=—[014F 10248
10 1034 1044F /7z;/- &
8 1054 /
=) =) |
4 —/://; x/ — R
2 a—= / ]
0= OO0 O ‘
1 2 3 4 5 6 7 8 9 10 11 12
B4 % p|=PSI>100 p #c2 & ¥ B A A GG B
7Rk
18
—8—054  —A— 964
16
——97H.  —A— 98
14 | =00 —=—1005F A ,:/A
—m— 014 1024E /
12 =, 8 £
1034 1044 / /
10 1054 /ﬁ ) ray :/j/i/e_e/@
8 /
6 /@/9 o
2 2
W / F—O—F—0F L
o= 0 P = S Z—
1 2 3 4 5 6 7 8 9 10 11 12
LINES
RIS 5 AL R|=EPSI>100 p foz 3% ° R ff A T




PSI>100% 3+ =k p

35

30

N
(S}

N
o

=
3]

10

R L ———r

——07% —A— OR4E

——99fF  —e—1004F

—m— 1014 1024F
1034F 1044
1054F

B6 ~ 2 p|xLPSI>100p #c2 & 1 % A & B

ok

B

PSI>100

15

12

&k

—=—054F  —~—96%

——074E —A— 084

—*—99%F  —e—1004F

—m— 1014F 1024F
1034¢ 1044
1054F




#®p

21
B

PSI>100 %

g * st

25
—B—954F —a—964E
——974F —a—O84F
20
—*— 90 —o—1004F
—m— 1014 10245
15 1034 1044
1054
10
5
0
B8 & # p|x-PSI>100p #c2 % ¥ A A A & B
w2k
20
18 —H5— 054  —A—964F /
—— T —A—O8(E /A/
16 ——994E  —e— 1004 M
= 14 =101 ——102%F
;‘:12 1034 1044F
=) 1054
= 10 * /
7) /\
[a
Y
1/
) /
2 = = = = = = = =)
‘]/ =1
0= 0 10 "0 00100 gt
2 3 4 5 6 7 8 9 10 11 12

®19

% 2 p|=EPSI>100 p #cz i ¥ B A A (G B

10




PSI>100 % 3+ p

20

18 —B5— 954 —a— O64E
—— 974 —A— O84E

16

—*— 994 —e— 1004%

14 |——=—101E— to2eE
103 104

12 F F
10547

10

PSI>100 % - =k p

)
1\
I

BI10 + 7 jp|=£PSI>100p #c2 & ? B A (5 B

R
30
—B—954  —A—064F
25 —o— 074 —a— 8% o —X
—¥—99%F  —e—1004F
—E 1014 1024F /—Q
20
1034 10448
1054
15 /
10
5
0

Fl11 % T p|=:PSI>100p ez i% 0 B 4E A F

11



PSI>100 7 3+ 2k p

W o2l

PSI>100 %

Tk b

35

—5—954F —— 964F

——074F —A— O84F

—¥— 994 —e— 1004
25

—m— 1014 1024E

1034F 1044 // @’

20 1054E A// / /Z/Z‘
15 R

10

B12 7% p|=-PSI>100p #c2 3% ¥ R4 4 & B

o5 5 P

—B5—954F —A— 964E

——074E —A— O84F /A/A_A
20 994F /JZI

k=991 —e—1004F
—o— 014 1024
=035 == 044F

ik

[y
ol
=
n
)

nOF
[
o
:
_F
b
>
B

o
rL
)
i\
S
OO ¢
)
)
o)
S
o

—_
[\
(O8]
o~
w
(@)
~
(ee]
O
—
o
—
—
—
[\

12



PSI>100 % - =t p

<~ Lixb

30

27 —B—954F 964F:
——074 —A—984F

2 —%—09F —— 1004

21 |———torE— 1024F
== 1034 1044F

1

i 1054E

15

12

13



e

27 49 5§ & & R 51447 (PSI>100)
2%‘:%%& NS 1= ;}‘FI*%L_ AS
P Bz |PSliE 5 R F A7
105/10/5 |+ sk | 104 | &5 (1075F S ERH MR hASF AL 2 F
s 383 — #F MR P M ?u%@ ¥ h
B RS R AT #0548
105/10/5 | = 2 = | 102 53 ARSI HBRRHA AP F
BIMAPIESTLAPFER BT o
105/10/15 | & # = | 102 L
105/10/16 | & & = | 102 L
_ 107 15~18p 5 # 4 MR k5 F Al fs o
105/10/17 | & f = | 113 LR "
= * ;»//'f"l;t’ﬂz}l H?]I%\/vﬁﬁg %/?U;‘L‘f
105/10/17 | = T = | 138 L BOYHF R 6o WACE AR R L PR
— = R b P AR kR o @
< 9 5 B - P
105/10/17 = é" 103 * %K /47\ /E'Jf—é" 5 4‘*’,/%& ]E'J rs °
105/10/17 | & P = | 118 LI
105/10/18 | & # £ | 110 %
105/10/20 | = T =k | 114 %
105/10/20 | & 2 = | 131 L
— _ 107 20p 5 #4 MR A58 F A8 24
105/10/20 | ~ ® = | 101 LR
i P s wm A ERARE L e LA
105/10/20 | ¥ & = | 116 i3 koo FEECHA %é’ w%ﬁ%b#ﬂ:é“%
o i i Frote BB KPR B #INA
105/10/20 | 75 A =k | 114 i3 Blebis L L R A .
105/10/20 | & P = | 110 3
105/10/20 | % * =£ | 130 3
(i 5t Ak > TR 4d)

14




8 LA FRlE L F AL 1068100 T30 1048 &0 R
BE | B il ghalpalczlap|e|salav[sxgulgp a0 Fkpg]mdx
104& =35 | 27 (30|29 |29 |30[36[32[24[23|30|25|40|44]40]|32]48
SO2 ppb - —
105#10" L3> | 29 |34 |29 |31 |31 |44 |26 |18|31|30|26|42|37|31|341]49
NO2 | ppb 104# =35 1113|14.2|18.2(18.0(15.4|16.7|11.8|14.8|16.6|15.7|15.0|17.3|13.1|14.4 [14.2|11.2
105#10* *+35 | 9.7 |16.1(17.1|18.4|16.7|12.0|15.8|12.2|13.7|18.3|18.0|19.0 [15.7| 6.3 |15.8|13.1
03 | ppb 104+ 35 130.2(30.0|26.2|25.7(29.0|27.6|26.9|26.8|225|225|19.8|23.8|26.3|26.0|24.4|30.1
105#10" 35 (339309 |28.8|30.3|32.0|34.4[29.1]34.2/20.7|21.0|23.6|251|26.2|21.0|37.2|35.2
104# 35 10.43]0.37 | 0.51|0.47 | 0.36 | 0.60 0.25 | 0.50 0.52
CO ppm - —
105#10* 35 | 0.40|0.39 | 0.50 | 0.48 | 0.38 | 0.75 0.91(0.55 0.60
1044 T 35
NMHC | ppb : > 014 0.23/0.18|0.20 | 0.35 0.31 | 0.46
105#£10" L35 1 0.14 0.22]0.19 | 0.23|0.26 0.31]0.35
104# %35 | 37 | 51 | 52 | 44 | 50 | 50 | 50 | 60 | 51 | 57 | 48 | 64 | 58 | 54 | 55 | 65
PM10 | £ g/m3 - —
105#10" =35 | 41 | 59 | 57 | 49 | 55 | 52 | 44 | 50 | 57 | 56 | 52 | 69 | 49 | 70 | 69 | 52
104# - 35 22 | 20 | 28 | 25 | 24 | 26 | 19 | 19 | 22 | 22 | 24 | 27 | 21 | 24 | 33 | 25
PM2.5 | £ g/m3 - —
105#10" T35 | 31 | 26 | 28 | 30 | 33 | 34 | 25 | 21 | 22 | 22 | 32 | 27 | 21 | 31 | 24 | 25
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